### ORIGINAL

KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION

11/10/10

Form ACO-1 September 1999 Form Must Be Typed

### WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

CONFIDENTIAL

WICHITA, KS

22222	CUNFIDENTIAL CONTINUES
Operator: License # 30606	API No. 15 - 039-21066-00-00
Name: Murfin Drilling Company, Inc.	County: Decatur
Address: 250 N. Water, Suite 300	SW _NE _ SE _ NW Sec. 07 Twp. 03 S. R. 26 East 7 West  1890 FNL text from S / (N) (circle and Line of Section
City/State/Zip: Wichita, Kansas 67202	leet Holl 3 / To (circle the) Line of deciron
Purchaser: None	leet from E / W (circle bile) Line of Section
Operator Contact Person: Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: ( <u>316</u> ) <u>267-3241</u>	(circle one) NE SE (NW) SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: RGM Well #: 2-7
License: 30606	Field Name: Plum Creek
Wellsite Geologist: Paul Gunzelman	Producing Formation: NA
Designate Type of Completion:	Elevation: Ground: 2590 Kelly Bushing: 2595
New Well Re-Entry Workover	Total Depth: 3820 Plug Back Total Depth: None
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 260 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
Gas ENHR SIGW  Other (Core, WSW, Expl., Cathodic, etc)  If Workover/Re-entry: Old Well Info as follows:	tyes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	1 Zeecdepth tow/sx cmt.
Well Name:	prilling Fluid Management Plan PANH 1-6-9
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of fluid disposal if fladied offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
07/15/08 07/21/08 07/22/08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🔲 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, per or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-13) and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: / / / / / / / Signature: / / / / / / / / / / / / / / / / / / /	KCC Office Use ONLY
Title: Leon Rodak, VP Production Date: 11/11/08 HEM	Letter of Confidentiality Received
Subscribed and sworn to before me this / day of	If Denied, Yes Date:
	Wireline Log Received RECEIVED
200	KANSAS CORPORATION COMMISSION Geologist Report Received
Notary Public:	UIC Distribution NOV 1 3 2008
Date Commission Expires 4/1/19011	
/ //	CONSERVATION DIVISION

#### Side Two

7

perator Name: Murfin	Drilling Comp	oany, Inc.		Lease	Name: R	GM		_ Well #: <u>2-7</u>	
ec. 07 Twp. 03					y: Decatu				
ISTRUCTIONS: Show ested, time tool open ar emperature, fluid recove lectric Wireline Logs su	nd closed, flowing ery, and flow rate	g and shut-ines if gas to s	n pressures, urface test, a	whether sl along with f	hut-in pres	sure reached	l static level, hydro	ostatic pressui	res, bottom hole
Orill Stem Tests Taken (Attach Additional She	ets)	✓ Yes	i No		<b>√</b> Lo	g Forma	tion (Top), Depth a		Sample
Samples Sent to Geolog	ical Survey	✓ Yes	i 🗌 No		Name			Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		V ✓ Yes				SEE AT	TTACHED LIST		
ist All E. Logs Run:									
Dual Induction, Microresistivity	Compensa	ited Pord	sity,						
		Poport		RECORD	Nev	w Used mediate, produ	action etc		
Purpose of String	Size Hole Drilled	Size	Casing In O.D.)	We	ight / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface		8 5/8	,	23#		260	Common	165	3% cc, 2% gel
Purpose:  —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре с	ADDITIONAL of Cernent	T	ING / SQU	EEZE RECOF		Percent Additive	s
Shots Per Foot			) - Bridge Plu ach Interval Pe		)		racture, Shot, Cemer Amount and Kind of N		ord Depth
		•				CC	MEIDENTIA		RECEIVED
							HOV 1 0 ZUJU KCC		CORPORATION COMMIS
TUBING RECORD	Size	Set At		Packer	At	Liner Run	☐ Yes ✓ No	CC	DNSERVATION DIVISION WICHITA, KS
Date of First, Resumerd Po	roduction, SWD or	Enhr.	Producing Me	thod	Flowing	Pum			ner (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate			Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF	COMPLETIO				Production Int	erval		
	Used on Lease it ACO-18.)	[	Open Hole Other (Spec		f. 🗌 D	ually Comp.	Commingled		

		18	Montgomery-Knutson #1-7 2525 FNL 1905 FEL Sec. 7-T3S-R26W 2600 KB					
Formation	Sample top	Datum	Ref	Log Top	Datum	Ref	Log Top	Datum
Anhydrite	2153	+442	-4	2149	+446	Flat	2154	+446
B/Anhydrite	2184	+411	-5	2182	+413	-3	2184	+416
Topeka	3330	-735	-7	3325	-730	-2	3328	-728
Heebner	3502	-907	-9	3494	-899	-1	3498	-898
Lansing	3542	-947	-7	3537	-942	-2	3540	-940
BKC	3740	-1145	-7	3737	-1142	-4	3738	-1138
RTD	3820	1					3940	
LTD		1		3815			3942	

1

CONFIDENTIAL NOV 1 0 2038 KCC

RECEIVED KANSAS CORPORATION COMMISSION

NOV 13 2008

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

BIII To:

Murfin Drlg. Co., Inc. 250 N. Water

STE #300

Wichita, KS 67202

Invoice Number: 115183

Invoice Date: Jul 21, 2008

1 Page:

PROD COPY

Customer ID Well Name # or Customer P.O. Payment Terms							
Murfin	RGM #2-7	Net 30					
Job Location	Camp Location	Service Date	Due Date				
KS1	- Oakley	Jul 21, 2008	8/20/08				

Quantity	Item	Description	Unit Price	Amount
120.00	MAT	Class A Common	15.45	1,854.00
80.00	MAT	Pozmix	8.00	640.00
7.00	MAT	Gel	20.80	145.60
50.00	MAT	Flo Seal	2.50	1
209.00	SER	Handling	2.40	501.60
70.00	SER	Mileage 209 sx @.10 per sk per mconFIDENTIAL	20.90	1,463.00
1.00	SER		1,185.00	1,185.00
70.00	SER	Mileage Pump Truck NOV 1 0 2008	7.00	490.00
1.00	EQP	Dry Hole Plug	40.00	40.00
		NO		
		LIND I was		RECEIVED KANSAS CORPORATION CON

KANSAS CORPORATION COMMISSION Account Rig No. **Amount** Description NOV 13 2008 CONSERVATION DIVISION WICHITA, KS 644.4

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 644.42

ONLY IF PAID ON OR BEFORE

Aug:20, 2008

Subtotal	6,444.20
Sales Tax	405.98
Total Invoice Amount	6,850.18
Payment/Credit Applied	
TOTAL	6 850 18

# ALLIED CEMENTING CO., LLC. 31722

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	
	Eldrich	
DATE 1-31-08 7 35 d6w	CALLED OUT ON LOCATION JOB START JOB FINISH	
RGM LEASE WELL# 2-7 LOCATION Jens	9N 12 E. COUNTY STATE  PECAFUR KS	
OLD OR NEW (Circle one) 5 w int		
CONTRACTOR MURFIN Prilling Rig 3	3 OWNER Same	
TYPE OF JOB PTA	OHILLA	•
HOLE SIZE 7 1/8 T.D. 3820	CEMENT 200 clos (col., 10)	
CASING SIZE DEPTH	AMOUNT ORDERED 200 SKS 6/40 4/6gel.	
TUBING SIZE DEPTH DRILL PIPE 4/2 DEPTH 2/69	74.700 3000	
TOOL DEPTH		
PRES. MAX MINIMUM	COMMON 120 Sts @ 15,45 1854,00	
MEAS. LINE SHOE JOINT	POZMIX 80-555 @ 8.00 640.00	
CEMENT LEFT IN CSG. PERFS.	GEL 7 5 k3 @ 20,80 145,60	
DISPLACEMENT	CHLORIDE @ ASC @	
EQUIPMENT	@ @	
PUMPTRUCK, CEMENTER Andrew	Flo-seal 50 @ 2,50 125,00	
# 423-281 HELPER ALVIN	@ @	
BULK TRUCK		
# 218 DRIVER Larene BULK TRUCK	@	
# DRIVER	@	
	HANDLING 209 @2140 50/60 MILEAGE 104 55/m/Le 1463.00	
REMARKS:	TOTAL 4729,20	
25 355 @ 2/69'	TOTAL TYPE	
100 Sts@. 1140'	SERVICE	
40 sts @ 3/0		
10 \$50, 40' 25 555 Ret hole	DEPTH OF JOB 2/69	CONFIDENTIAL
13 Sts Kat hole		
•	EXTRA FOOTAGE @ MILEAGE 70 12/25 @ 7.00 490.00	NOV 10 2008
Thank you	MANIFOLD@	0100
0 (	@	KCC
m at to	@	
CHARGE TO: Murfin	1/7/	
STREET	TOTAL 1625,00	
CITYSTATEZIP		
	PLUG & FLOAT EQUIPMENT	RECEIVED
	8/8 KANS	AS CORPORATION COMMIS
	1 Dry hole plugo 40,00	
To Allied Comenting Co. LLC		NOV 13 2008
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	@	CONSERVATION DIVISION
and furnish cementer and helper(s) to assist owner or	@	WICHITA, KS
contractor to do work as is listed. The above work was	<b>V</b> • • •	
done to satisfaction and supervision of owner agent or	TOTAL 40.00	
contractor. I have read and understand the "GENERAL	SALES TAX (If Any)	
TERMS AND CONDITIONS" listed on the reverse side.		
	TOTAL CHARGES	
PRINTED NAME	DISCOUNT IF PAID IN 30 DAYS	
SIGNATURE LOUT STATES		



24 S. Lincoln Street

P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202 CONFIDENTIAL MOV 1 0 2008 NVOCE

Invoice Number: 115053

Invoice Date: Jul 15, 2008

Page:

1

ichita, KS 67202	MOV 1 0 2008	PROD COPY
	KCC	
Customer ID	Well Name# or Customer PiO:	Payment Terms
Murfin	RGM #2-7	Net 30 Days

CustomerID	Well Name# or Customer P.O.	Payment	Terms
Murfin	RGM #2-7	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Jul 15, 2008	8/14/08

Quantity	ltem:	Description		Unit Price	Amount 🦟 🤭
165.00	MAT	Class A Common		15.45	2,549.25
3.00	MAT	Gel		20.80	62.40
6.00	MAT	Chloride		58.20	349.20
174.00	SER	Handling		2.40	417.60
70.00	SER	Mileage 174 sx @.10 per sk per n	ni	17.40	1,218.00
1.00	SER	Surface		1,018.00	1,018.00
70.00	SER	Mileage Pump Truck		7.00	490.00
1.00	SER	Manifold Surface Head Rental	RECEIVED	113.00	113,00
1.00	EQP	Wooden Plug	RECEIVED KANSAS CORPORATION CO	MMISSION: 68.00	68.00
			NOV 1 3 200	8	
			CONSERVATION DIV WICHITA, KS	ISIO*-	

Accoun		W L	No.	Amount	Description	_
0360	0 003	W	3230	6476-	Description  21 (Iman + S. ()	7 Sa
				(628.54		J.
			·			
T		1				
	ubtotal			<u> </u>		6,2

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 618 54

ONLY IF PAID ON OR BEFORE

Aug 14, 2008

Subtotal 6,285.45
Sales Tax 190.82
Total Invoice Amount 6,476.27
Payment/Credit Applied
TOTAL 6,476.27

OKOD

5847.73

## . ALLIED CEMENTING CO., LLC. 31556

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERV	VICE POINT:	lesk)	
DATE 7/15/08 SEC. TWP. RANGE 10	ALLED OUT ON LOCATION 4:00	JOB START	JOB FINISH	_
10 a	in ings Rol 15, 5/2	COUNTY	STATE	,
	a N into			
CONTRACTOR Mur Fiv # }	OWNER Same			·
TYPE OF JOB Surface HOLE SIZE 1214 T.D. 26	CEMENT	A. /	0.5	
CASING SIZE 85/8 DEPTH 34:0" TUBING SIZE DEPTH	AMOUNT ORDERED /65/	Kr Com	37.0cc	
TUBING SIZE DEPTH DRILL PIPE DEPTH	:			
TOOL DEPTH	COMMON_165465	01545	25	
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	COMMON_\b\\\ \f\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	-@1 <del>7~</del>	7244	
CEMENT LEFT IN CSG.	GEL 3	@ <del>}080</del>	6740	
PERFS. DISPLACEMENT IS BEL	CHLORIDE 6 ASC	_@ <i>58*=</i>	349=	
EQUIPMENT		_@		
		-@ 		
PUMP TRUCK CEMENTER Han				
BULK TRUCK		_@		
# 3')') DRIVER Lukene BULK TRUCK				
# DRIVER	HANDLING 1745K)	-@ <del>240</del> -	41760	
	MILEAGE 104 SIL / mile		12/8/20	
REMARKS:	,	TOTAL	4596 45	
Cenent Did Circulate	SERVI	CE		
	DEPTH OF JOB 260'			CONFIDENTIAL
	PUMP TRUCK CHARGE		101800	
Thenth Yasa	EXTRA FOOTAGE MILEAGE	-@ <del></del>	490.00	NOV 1 0 2008
Alon, Nayor, latere	MANIFOLD Jurgue Head	@	11360	KĈĈ
,		_@		
CHARGE TO: Mur Sin				
STREET	•	TOTAL	162/	RECEIVED
CITYSTATEZIP				KANSAS CORPORATION COMMIS
	PLUG & FLOAT	'EQUIPMEN	Т	NOV 13 2008
	818 Wookn Plug	@	6800	CONSERVATION DIVISION
To Allied Companies Co. LLC				WICHITA, KS
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment		_@		
and furnish cementer and helper(s) to assist owner or		_@		
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or		TOTAL	68	•
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)			
PDINITIED MANE	TOTAL CHARGES			
PRINTED NAME	DISCOUNT	IF PAIL	O IN 30 DAYS	
SIGNATURE Lan Cell				